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M.Se. DEGREE ((.5.8.) EXAMINATION, MAY 2017

Fourth Semoster
Faculty of Scicnce

Mranch TAF Mathematies

MT 04F 05—MATHEMATICAL ECONOMICS
(2012 Admissions—Regular)
Time: Three Hours Maximum Weght o340
Taxt A

Anster any five guesiions

Each guestion fies werght 1,

efine consumer equilibrnum witk ample
3. Explain Isoguants with diagrams
4. Esxplain Ridge lines,
5. Deseribe Temtief dynamic model.
6. What iz the meaning of inpul-cutpul.
7 Defing alinear dillerence equation. What are fundamental set of selutions ?
8, seuss the behaviour of the solulion scquence,
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Part B3

Answar any five guestions,
o
L

Eacl guestion hos teight 2.

9, Explain the Lagrangan multiplier method to maximize the utility function subject to the budgel

crmstraint

10, As individuals utility funetion iz U = 2gx + 3y - ax® - 2hay — hy¥, Show that his demunds for the

prods are linesr in the income.

11, Whal iz 0. F.8 Preduction funclion * Find the clastieity ol substitation tor Lhe GBS production
tfuneLion,
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12, Consider Cobb-Nouglas production function for twe goods Y, ¥ K" and ¥, - 13 K} where
u, — 174 and o, =84 arce the canital shares of the two industries. Find the equilibriom vonditions
[or the cost minimization,

14, D'rave Lhal marginal product is alwavs cqual to the sverage product when Lhe average produel is
AL,

14. Find the output [or the input multiplier (A) and final demand (F) given by
0.6 1 s
i 0 2 =
T e ] | ;
» i *| ang ¥ =
0.3 0.1 0.2
= T
15. Solve the difference equation 4y_,—v, + 2=1L
XA i

14. Explain [Tarold medel.
(3w 2= 1
Part C
Ansmer any three guestions,
Bl gurstion has weight &,
17. ta) Prave that it all prices and incomes change in the same pro portion, the guantity demanded is
the zame.
by Find the stationary values for the fonetion T = 4 —xy+y2 ad
18, (&) State and prove Kuler's theoren.
(b} Lplain the nature and meaning of the produclion funetion,
19, {a) BExplain the law of variable proportions. Jiscuss the phases and assumptions.
ikl Find the Marginal rule of techuical subsiilution for @ Cobb-Dou glas producticn funetion.

20, Technology malrix for the inpul-gcutput model 12 gmven by :

Septor 1 Sector ¥ Final Demanid

Sector 1 (324 1.10 F1
Sector 2 i, 74 .12 | bt
Laboar .8 0.6

i final demand B, = 0.4y + 80 and Ty = 0.6y + 100, Find the equilibrium income and oulput of the
different zectors. Compare the resules il'F, = 120, F, = 1al.
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21, ) Techrology matrix for the input-outpat model s given Ly

Sector 1 Secler® Tinal Demand

find the output of each sector

ibi Explain Leontlef'z models with an example. Baplain how matrix algehra is useful in studying
this model.

22 {1 Explain the method of solulion for the first order linear dilference ciualion.

bl Explain the general Cobweb nodel.

344

[letreiaad [



